
EE 201 —  HW 5.16    Name__________________________________________

In the parallel RLC circuit shown below, the current through the inductor is known to be 
 
iL(t) = Imcos(ωt), where Im is the amplitude of the sinusoid, and ω is the angular frequency. 
 
Determine expressions for iR(t) and iC(t). 
 
 
 
 
 
 
 
 
 
 
 
 
iR(t) = ____________________________________________________________ 
 
 
 
iC(t) = ____________________________________________________________ 
 
 
Hint: Determine the expression for the voltage across the inductor.  Use the inductor voltage expression 
to help find the resistor and capacitor voltages.

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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